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Answer all questions.

140 ewa odmoE (1), (2), (3), (4) 8€no®Es SO0t vl DO ogewm end BEnd enidh avis.
1apssd 40 euemyusiton gpeibeure slsmmalamd (1),(2).(3),(4) aen aedeniL et sfienL maflsd Fflurengt
arbeg sl QuImSsITansl oo BhsdT snaik g slmimus Caflabsus.

From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

2RO eens BEac vyed o & grme aten € o 20 onedyl 22 enih o 88nel gumwd areys
wda g (X) cass emcdn,

o _wéE eupksiUl Geen elloLgigrealsd galanrg elamappeid o ful et Biselsh 2105
sismullehr @evsaims @H5 el L Haish@sm Lsitemgsnuw (X) BES.

Mark a cross (X) on the number corresponding to your choice in the answer sheet previded.
&8 B8no; oped Bhoe € e aend cvecd ¢ meBEc0 osim. '
aflenlSarofisl (BLSSHA HIOULGeisn WwiHmpL Sfamibassmub Saanms anddbs ieubsmn
I Seftum .

Further instructions are given on the back of the answer sheet. Follow them carefully.

3. 2

1. 5m80E dmm mlins Drlew cun Ji8s) e ¢?
BFGIE Gepfel uemlung Sisnwsugl Lsamaiseuhmst 617
Which of the following is the function of a natural?

(1) 1traises a note by a tone. (2) It lowers a raised note by a semitone.
{(3) It lowers a note by a semilone. {4) It raises a raised note by a semitone.
2. T B ando eyl BG00 gdes odEd o Lo wens’ SOibsl R 7

SIUUL Gsiten Ly Bevalt 14758 CFlasDGs Coemenirs Gysbl. sia@auamebme sig?
Which of the following rest is needed to complete the given bar?

(1) Dotted Quaver rest (2) Demi Semi Quaver rest
{3y  Hemi Demi Semi Quaver rest (4)  Semi Quaver rest

@D 9l Eod wey 080 Bdenibdu rlert vws E6:8s8 e ¢?

SO Goitsn Uty BB GurgdhsoTal on AsCmis) DstaihessTarbmiet s’
Which of the following time signatures will be the correct one to the given bar?
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4. g 088 Bremtdud Wedil ucd emu®ea Sed ¢?
g sopih PEGariafled abmaney] GCaey Lsbad Blgpbenid?
How many quaver pulses are there in g time signature ?
(1y 3 2y 6 3) 9 4y 12
5. C 88wmoed edrdd e®dded B Bdesitcs Gus 9S8 poc van oews’ S8y nos ¢?
Cemtoenl] fiGooppiish Cuogyflsd & HdGerraeny siapsnd #furen e draumaierabast og?
Which of the following is the correct way of writing the key signature of the relative major of C' minor?
At i i
1 Hih @) b Q) R “4) P
44— ] R i ! vy 4 L
L
6. Aocnbe@ s 88mded ‘B0 enid’ Om Bl desipun ‘Blwd’ O e5® 9. vun sews Sl 08
denics o ¢?
AamijCGoreld aoanflsd ‘efign Brm’” syeng Ggl ebBmalisd Bnwis’ g1 CursimsrED. atsuhessTsnigsi
ey a10Basl aigy?
The ‘leading note” of A Harmonic Minor is the same as the ‘mediant’ of a Major scale, Which of the following
major scales is it?
(1) G Major (2) E Major (3) EP Major {4) D Major
1. exBedisls em@d decn com agwsl T8 n@s ¢?
QF B rsierd @sbsong arvBmsy (Meiimimararauhmst o7
Which of the following scales have no semitones?
(1) Harmonic Minor Scale (2) Melodic Minor Scale
(3) Major Scale (4) Pentatonic Scale
8. »lc@Bd 88ml dewced polietndhs o 8. e end @i «O0 guincn gedsies vum e’
d0a8s 28857 ¢?
amTibunals ooy ablseilsd aif@rafls, oSgm Gprl  sifusbnsdent uleore sy Blent_Glars]
Refreumanamandipish sigied  sml L iUl Beiengs?
Which of the following is the interval between the supertonic and the leading note of a Harmonic minor
scale?
(1) Major 6" (2} Minor 6t (3) Augmented 6 (4) Diminished 6
9. D edmied 866 gutun:d eabdied ovs scwsl Soflss el 7
D emoenfletr enpiop? Lgwl sisbeonsgl eielmensareibmish aigd?
Which of these is not a Primary triad in D minor?
e T E— a— T
M % o B=g— oZgg— o 8
A T JRRRROI: 1 AR — - Il
10. 88 C 088t domas oo 850, zg 6800 B ouses o <2
7
primat C Gl erb@Gmensots unGGLINS, g STOBMI DS DIEDLOU I SHHEHE! 61gIT
When you sing the scale of C major, the note g would be,
(1) Doh (2) Fah (3 Te {(4) Soh
1. V- Eum 80 apweds e omid te €bdn com senst 8.8 nes ¢?
V-1 ¢ eupsabGung enasi (@i Qyrefie Gemgst ebsupin Saaimoismaibmist  o1m?
Which of these notes is omitted in the tonic chord when V-l is written?
(1) Root (2) 34 (3) 5 (4) o
A
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OL/2017/41/STE-I, 11 (NEW) 23. 4834

12. <88 buwsed Beadd Bad Hed ¢?
@i bALSHD sihGHened FeoLsesT o sifsnen?
How many syllables are there in this sentence?
“Rain in Spain falls mainly on the plam”

iy 9 2y 10 (3 11 4) 12

13, ediDm 900 8@ eudls woln mEiy B ¢?
PCrelsn @eldgs Fowren Deopdlru Bamsdsmsd wing?
Which oriental instrument sounds like the Oboe?
{1) Esraj (2) Tampura
(3) Horanewa {4) Nadesvaran

4. com scesd Shds «50 nos Sedsies’ e@88s pE@mD ¢
LNeTeUREHSTSUDMIGT 6Ty Apslim srosHfbel ST LIRID?
Which of the following consists of three notes?
w @ @ e @
15. & woBned midn eolded e@0:853 @ ¢?
GeibpieT sgrey Eenaulst LWSTLBSSUILTHE siEl?
Which of these is not used in Jazz music?
(1) Piano (2} Trumpet
{3y Clarinet (4) French Hom

16, & comoed gi@ends! gowd gusl Bowds Sxies) e®808s3 e ¢?
Sieemmpauiar Aolumrst srevdadSmEiiu um e Seubost simt 7
Which of these is 2 song of the Gramophone era in Sri Lanka?

(1) Suwanda Padhma...

(2) Gaambhira Thedathi Konsthanthinupure...
(3) Siri Buddha Gaya Vihare...

(4)  Vasana Dineki...

17. oo uimedsl Sumd eneds 0d®m qgo Dolen
HITHGT cushHisrnhiler AGHHHHSUURD HOL  WTHOL WS
Thuranga Wannama depicts the gait of the
(1) Horse. (2) Elephant.
(3) Hare. 4y Monkey.

18. =mtBac 2 wlsn eanmcn wodn tnedto swm 685 e ¢f
BIfSAulsh vwduBssaininrs Beorsagel Usisumeensubpsit o517
Which of the following instrument is not used in Nurthi?

(1) Flute (2) Harmonium
(3) Maddala (4) Tabla

19. o5ig:® Eg8d ot Scpms Ba vpses
USnamb BlenFhminsl 9 HATENDFE DENOULIGHEDHE]
An example for Programine Music would be
(1} Clock Symphony. (2) Carnival of Animals.
{3) Liebestraum. (4) Moonlight Sonata.

[4 &8 BB denkm. / ub. 4 gl urlés [ See page 4
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20. oRubensiC erftwluns Duless v il ndd ¢?

21,

22,

23.

24.

25,

26.

27.

BubuGludl. CaLsiied s oimioag Nesumensnaybast e ?
Which of the following is an Imperfect Cadence?
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ool Bece mln nistes! sun st R wdy mefda ¢?
Lipssry &8sty Geweml LwdUGSSHoNE Udoimd suhs Eensbomsieist oi@n?
Which of these instruments will use the Tenor Clef?
(1) Cor Anglais (2) Vicloncello (3) French Horn (4) Viola

&Bniis! edod Sm Duiert B ¢
Beummisht Geupiit L gy sigy?
Which one is the odd one out?
(1} Tom-toms (2) Floor-tom (3) Timpani (4y Hi-hat cymbal

Bencidss Suier) e®Dusl npdnd ¢

Boubmistt a5 ELIT HGD?

Which of these is an opera?
(1) Eine Klein Nacht Music (2) The Seasons
(3) Elijah (4) Lohengrin

BOEE B mettn® oixsmn B0 Boost S ordes
1 geberd @enFobmup LB @ UTLG0TSH DEDIOLGHHSHE
A song by the Beatles would be
(1) You raise me up. (2) Flow Gently Sweet Afton.
(3) Yesterday. (4y  When the Saints Go Marching in.

D@ed & el Ju P80 dow wEds 9f wed ©f ¢
saig RCLITme SWHtsDnsshHe SPnbardisnn Biorefidssuy wrf?
Who buili a theatre to perform his own operas?
(1) Verdi (2) Schumann (3) Berlioz (4) Wagner

@6zt sel D030 O p8m end® des 7
Goramrl LT @amisl (pdHeutsusl dpsibiostn’. sihs GLmSsh ensminupb?
In which form is the 15! movement of 2 Sonata?
(1) Binary Form {2} Ternary Form (3) Rondo Form (4) Sonata Form

Bemtitred Bon® wodom wetlon «fDdo SmDI8 §d & oD e dimo me ol 8807 B edidas Bu
&’)125?@‘5)’

REabpTeley gaToug FRSHS Gpolsd evauiEsT @simrs (pepl ugGHuia Gmrssdmigur el &
ST oiBdh QErsiiend HHsa!

A digital keyboard which can instantly reproduce the sound of any instrument of the orchestra over the full

range of the keyboard would be
(1) Looping (2) Mixing (3) Sampler (4) Sequencing

-
[5 e 808 pesm. / us. 5 @i urfss [ See page S
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28,

29.

3o.

31.

32,

33.

34.

35,

36.

37.

8500 e o Bednd enedwies! cwm S8 R8sl ¢?
Weaumarsneaubmst sigeit epeoid Weneil. geig Ul elaufssinGans?
Which of the foltowing describes a Minuet?

(1) A French dance with 3 beats in a bar

{2y A Viennese dance with 3 beats in a bar

{3) A Latin American dance with 4 beats in a bar

(4y  An Argentinian dance form with 2 or 4 beats in a bar

wdm HBhdens’ cdomest swn wewsl p8m Jueda &7
tebraumd ehs LUl mbsreag sagsssd aunblisgb?
Which of the following positions of a triad begins on the fifth note?
(1) Root position (2) First inversion (3) Second inversion (4) Third inversion

D dmd Hrles! cvm agnsl SOils) @ ¢f
Taumhalereiiplsit ab 5. S DImIDsUF 617
Which of the following is a Lied?
(1) Clairde Lune (2) Who is Sylvia? (3) Eroica (4) Bolero

enslDoewioE/eomBemBs n8rd O ng miBur Dtest vum Jolsl ol ¢?
tisaimeisieubpish Gmren jusiLed / QureiGurefid (psomulsh erqpsi L. B apl?
Which of the following compositions is written in Contrapuntal / polyphonic style?
(1) Moonlight Sonata — Beethoven (2) Sonata in D ~Schubert
(3) Prelude and Fugue No. 1 — Bach (4) 1812 Overture — Tchaikovsky

eBfBedest eni® denms’ arf miBun rlens con eews’ Shds @ ¢?
isaummaumeiinnet CoufiGungst Cumdlsd Simohs ey 6B’
Which of the following compositions is in Variation form?
(1) Handel — Harmonious Blacksmith (2) Beethoven — Minuet in G
(3) Chopin— Minute waltz (4) Bach —Minuet in G minor

Do wdmed e embdden vwn JDEs 9@ ¢7
Ueirsugpausnebnsh belenr @ewaullsll Ladily SI0TSS 61517
Which of the following is not a characteristic of modern music?
(1) Chromatic harmony {2) Syncopated rhythms
{(3) Unusual sound effects (4) More than one melody at a time

Ensitiesifo B wrwiued Brlest swn Solsd o ¢?
Weirengnsuseubmisii 1 FreiterbBLTdITy Bensdsmal edpl?
Which of the following is a transposing instrument?
(1) Flute (2) Double Bass {3} Trombone {4y Oboe

‘In a singing style’ S1eme qEB80 ewen gl eug® cwm S0l Rl ¢?

ersugasampst 'In a singing style' B @engemu QosfiLBSSHRISBGT LUSUGHEILGE SGHHTsiiuiLl
Ui Guaant s1gy?

Which of the following Italian terms means to play ‘In a singing style’?

(1) Calando (2) Crescendo (3) Cantabile {4y Con Moto
DeaiDSs AemedE tdn et ged B800 eqm tded wavims Driest e@ninl R ¢?
Beummish CUTERITsRamed p®eil b Bengd s@sismst fuld GetiaisBel LwusuBHSILGD sThEMI e
ipmedi atg)?
Which of the following is the frequency of the tuning note for the orchestral instruments given by the Oboe?
(1) 256Hz (2) 440 Hz (3) 512Hz (4) 880 Hz
eBBAY 6 amnd g Dlew! cvn J0Bs pds &7

eirsugpaamouBmeht Gabul Bomelts 1Wense o foHamaug o5?
Which of the following is a type of Chamber music?
(1) Symphony (2y Violin Concerto (3) String Quartet {4) Ballet

—

{688 BOP Base. / Ud. 6 g uafds / See page O
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38.

39.

40,

& 15 &350 evimde Budnd me vrdes 6880858 @R ¢?
Deubmiett sigbedl psutd HPLL Hsiten srosug Henl Genadiwensy afleuflbseonb?
Which of the following will describe the given interval?

) B——
5 —be |

o

(1} Chromatic Semitone (2) Diatonic Semitone
(3) Unison (4) Enharmonic Equivalent

Bentdds 0 BB BEEHOGHY 0B B¢ wBn miBus OB eils! Béded emeddies’ vum S0r8ns
3B ¢?

gaEavlyrefish saflsemflen wbe Gosds Oerglen as Hpiurs ofsfiug DeeumeseanbmsT g’
Which of the following will best describe a musical composition for a Solo Clarinet accompanied by the

Orchestra?
(1) Clarinet Quartet  (2) Clarinet Concerfo (3) Clarinet Duet (4) Clarinet Symphony

sHm B DesIf enedsl BIOE DosiBo nd ¢?
Hidicumd smbmisEnst Llenpuressl g7
Which of the following statement is not correct?
(1} Musicals tell stories using singing, dancing and dialogue.
(2) Musicals use an orchestra to accompany the singers and play background music.
{3) Some musicals were turned info popular oratorios.
{4) *“Just a spoonful of sugar” is a song from Mary Poppins.

e
WS

"
[7 &5 80P Deadw. / ud. 7 ol utjds /See page 7
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General Certificate of Education (Ord. Level) Examination, December 2017

weBmw (gedén) LI
srdsd (GamevgCsuw) 1, 1E
Music (Western ) L1

woBmew (grdie) / sidsw (Cuensodstsul) / Music (Western) I

1 O» gdBe oD A 0 B emiddofs gdm egn 98 enitieon, gdn cund BERC; ¢80 uged @ souwm.

I b sfier 2 Cul ued A, ugs B eeauamfelmbs Beeiyen@ olambssemens Ooflaloeuilm, asbanors
mba Slomsaensg BasraiGotu: il sns.

Answer five questions including question No. 1 and selecting twe questions from each of the parts A and B
on this paper itself.

{ B gome [ s tien /Index No. ... J

For Examiners’ Use only

{41) Music (Western) 11 Paper 1
Part Question No. | Marks Awarded Paper i1
i 1 Total (Out of 100)
2
Final Mark
A 3
['In Numbers 1
4 {In Words }
5
Code Number
B 6 - .
Marking Examiner
7 l
Marks Checked by:
2
Total Supervised by
\_ w . w

| 8 €5 800 Dok, / uh. 8 i unfdes / See puge 8
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1.

ewm & g18 s daftio giromae wd e e gdmdED BEnd nowsim.
S8 syl Gefisn Bes( Cuwiieoud sHm Gsl sl Gewn lambsapsa eI s0pEs.
Study the musical extract given beiow and answer the questions.

®

(iD)

(iii)

(iv)

|

-
(a) 0®® w8 Dedtds wows ouivyn B Om @ ¢? (b} & gPwss H» B D O mosim.
(1) @ps Besl Quuy absd & B et figans? (b)) o gpysymib & Severs GULIGS.
{a) In which key does the music begin? {b) Name the key in which the extract ends.
) SR
0 O P PSP R OUURORS
08 @B Dedtied 088 Bdestics Sdnd monin.

Bbs Beat Guwilnles sogd AdeGeireamy ollaufldms,
Pescribe the time signature of this music extract.

@8 mafiv JOzm 130 cfed, dlithy 8O dn BiEeis B8e® enectn 88 1797 cun @i 0691533 goed
B cn S88. wdnwwed »® denil dond gy domed Busls.

Beginwsilur 68" Bement eybaln Cumenpd@fiuwenmd 1797 @eo Smbseuionen Qymorsed umsale ey o)
Pmered Gbe Hisd aupsinn’ & Bms sis@afldr Gy soGanl e Quigdsona GI HHd0 eapas.

This piece was writlen by a Romantic period composer born in 1797 who was credited with creating the
German Lied. Write the composer’s name in the appropriate place in the score.

3 O @b derd B0 4 O b b ¢ A ece weRe 90 e esfdsins B8 B0, B On ogwst wonim,
3 oum rfledmiEs 4 epenm und suepulst A stend @GS LUl Geiren Sl sy Bement QLW @, & Gensid
siiaifs.

Name the cadence used in bars 3 to 4 marked as A and state the key.

[ O 28 80D Des. / wh. 9 mi ugds / See page 9
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v

(vi)

{vii)

(viii)

(ix)

{x)

9 £ 25 Dzt B0 10 O o8 929 23D B oo ssepeh 00 18 enddoing o8 w4, B O acunt oduim,
9 syeng unfledapba 10 siangy vl ewenguisd B erends @niitnf inn Beien Gateiied Beveni Gunill B, & Senend

SRRGs.
Name the cadence used at bar 9 to 10 marked as B and state the key.

3 O @ols 00 woBs’ g Vo, simile cRe o188 mIsim.
3 oneug uny @bee Spraesiten e, simile  ewim @uf e ellendigm.
Explain the sign B, simile given below bar 3.

B8 peied eOrBd B St Bt e O eeliEdsDdld el Borim.
Bbs @t Cuwginder Oprefer & Eeir 6Sigm Cupnl FRenen GFllgCouangTes sUpms.
Write the leading note of the tonic key of this piece as a semiquaver,

@0 w.dm deids o@deld oddd dend Dixme Bg gu «© deads de ggm dHeud geevm it
#OBetn gritedes] Bosim.

Ehs Sspalr Queujlend Qur Bl Gusn @sb Bensss BaueiiBh. abBsny Ber Quimbsore G Sk gBm
alshbales Gnbbun Benglsage Gensn GIDGIS.

This music extract should be played at a moderate pace. Write the appropriate tempo indication at the correct
place in the score.

ol dedbed ewig B gedBact d0d el ondows Belnd wmonis.
@enatt GLunlsd vwsuBEHEi N Beiren BFCraluisof ebemt nGHDILF ROEEHOTE elafldEEs.
Briefly describe the irregular note group used in the music extract.

& g1 Bded (5) wdovd 2906 418 w8 deibed gi0d0E aribbd wd ®dn Busim. gridld mdm g ved
@uioDE 9 o Bdsim.

Sro Geiten Lnflst () @Bl Beiren @Aematt Gruinted Hen jemchsmemsn Beiiong GQedim 185G s0pGIS.
Giedieny. QFE (pseureudl Sefieuisv g Quuififas.

{nvert the intervals of the given bar (5) in the Treble stave and name the first inverted interval,

\ D
& 3
v >
‘@V
5

[N Te T 11T o T U

[10 &8 808 Depw. / us. 10 gl unisae / See page 10
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A emte /usdl A/PART A

B oo ecopod BEnd suosin.
aemafwgith BreiE clandssade ol weldgs.
Answer any two questions.

2. (i) o®0 o:bn deide Bedules? E eddded ededd 8dmded ©. e®s et ¢ Hedded 0108 B Sdesidss
@396 2O Basim. 88 00 O 60 600wd w® «el vl 883 acm e dstm.
Bbs Senar Gy, E Goegfled Cpsor fled emsnifled 2 afengy. @mhena emphrslii Beien sroged Sieft siflunear a5
ANeBemFoanill LGSR et siopSis. odgr Bpre. syag Gaells oy bhabhs CoseHanat eTOs0] GsNst
apeotd GBGEIGET_ B,
This extract is in the relalive minor of E major. Rewrite it in the given stave inserting the correct key
signature and mark the leading note moving (o the tonic with a shur.

&y e = =

o e * = 22
%

Y

(i} FoREdowld O o8l desdes ghecine o gredines pBs F Secd derd Boslm. BedbiddEs o0
Dot giBn I ¢desl ooslm. guBetlods ewig, debisd 98 enBetdslsd s oz,
F alnfguisi’  sym owmeipd Guomi etGaee owubinse, sbinasn (wepsefso F AGmh &6 sgpsis.
Gesuasd Bsb Ggrafis ganlsd synbilisasl WoEe:s. SGAOLE svad @i LWSUBGHS abefad ST ApsoIOTS
L fCrsiimensnd @GlEs.
Write in the F clef, the major scale descending and ascending of which F is the sub mediant. Beginning
and ending on the tonic in quavers, use accidentals and mark semitones with slurs.

(ili) G O8> €450 ewrg 88ud Jod 0808 8desiDded auly 4o e8cBund Sl8rens mistm. gife &l dm
eD18es 4006 BH0 dmed erm oend 0 BO0T 60D d ewign wulnlien movim.
G enoan ebeugmsment) LWBILBSS Aibued Cdlusd epe AdBansafenr 4 Lmjseliss Gioevy peienss ST,
Bmg uny S Cgredls evarsans slth gaimred Gifiba sfiurer Qrebd’ Genand Gayhail LIRS HS.
Compose a 4 bar melody using the notes of G minor in Simple Triple Time. Complete the last bar with
the Tonic note as a Minim and a rest of correct value.

&@ka

3. () & B eB®ciu £OC o eddd o & g 088 Bderiidnd gmd SHded medd) »0 mdn Busim.
Sycin (Beiren Geosugemu  stbsufld, Qe spdlueibmn s sFo Geien enqie fHCaFFmeim el Flunsd
Sl Longa s slnals.
Rewrite the given melody with notes and rests correctly grouped according to the given time signature.

St
j

s

i B

A

/‘, Kyl
B

Mg

By 2.

J
{11 &4 809 Desk. / us. 1l b uniss / See page H
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(i) wom deided 088 BdesiDied eOmnuhn® B8ow:s g, aog Smde HDOE 080 Bdesitd Buwstm.

(iii)

{iv)

(i)

sireumtd giewn SA soyh AGCendafad dev CoupninBae o sionen. o fiur G fsefsd Ffunss engib AbGeniaimenen |
1RSI,
In the following extract several changes of the time signature are needed. Write time signatures in the appropriale
places.

Ayt e :

Y L - i)
'Y = 4
g B o.fn de0u 99 BD def 00l wecd ewe 058 mOn Eavim,
sI( Belien Sonash ek Gog obHHH NF B Opsg &6nl @evett LwsBds 1861 siupsis.
Rewrite the given extract in the same pitch using the Tenor Clef.

. bk -
H I

-

ww

<"

r
-

la
A 7}

l¥ - 3

F

F
n

2 B DOmEED ageom 89 b eresnedimas 0l 2ods Boslim,
SFULL [Helten CaniaEpdEi Gumbaiorn Fhed Cameliorsisnn CoBarrear @bl LLETLIBHES ainSie.
Wriie a rhythm pattern on a monotone to the given words,

“Oh! Give me a home, where the buffaloes roam,
And the deer and the antelope roam”

o wensl etsis Eorlm. ey d00E0 etBmsid T enil) 9 v B Bdeslds swiesin.

&8ip sy Gefen GoLelsrd g siqpaie. Quigdstorer B Hmicandd Crmlewn. 7 Sos Gsn. By &
H&Censa] Bepeonrn Caiss,

Write the following cadences. Use the dominant 7% chord at appropriate places and with key signature.

(a) “Q (b ﬁ
e [Y)
é,} : 5}} :

Plagal cadence in A major Interrupted cadence in F minor
0 sonlEoml gor 880 Beiburs ewig com ¢80 cdEDo ndylis monim. vigsoy etBeed, oo
w1 D808 oeme odnlisn e®cBud awiests.
@8 unenliiisosmohs eflem. & alei Gorsiemi LUsTUGES Bibs Gieslg Bt LIeiUGHSIS. LTS EDTer
GrbGur, Budih, sendsad s GiluiBamen Yy Qoeagses CFise.
Complete the melody by adding an answering phrase in the same siyle. Add suitable marks of tempo, phrasing
and dynamics {o the complete melody.

nmﬁm,
3 ig___g —+

o

a@%%& 36 1

[ 12 &8 890 Deakn. / us. 12 @b wnpds / See page 12
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B ozl /ugd B/PART B
B ® g econd BEnT; oossioy.
srsnsiBuignih Bread ollemboendg il Welldos.
Answer any Iwo questions.
5. ) @ gom (1),(2) o (3) eco cng 20 & i eniddcd edin 9cSnd ewig Bddnd ndsim.

(1).(2).(3) aond @lbsinn Geien s eosende o Crrod Bousstibmen G E eloflbgs.
Pescribe the given chords numbered (1), (2), and (3) using Roman numerals.

(b gozm {(4) 99 (3) vency i SO6HED wlsd orgeum enided Euim. edln acn® ecigy com enibel
crDuio.
(), (5) een Bsvsbmld L Belisn  erbsugisEnbe,s S0 QUIGSSWN CETlsiodsmet supdhis. = Brawesd
Baodoniaemeilt LWLRSHE Camr_sivmanend S ({HE.
Under each of the noles numbered (4) and (5) write a suitable chord. Indicate the chords using Roman numerals,

(h (2) — & & 6
— — i w-
v H | _t
%:ﬁf o

=

et
DRI ESCES :
T ’

Chord indications — —

- -
<=

TE®R
TR
TR

T
A
k:

(i) oo Do el dondll PO by Eosio.
ediongnic S song Ceprl. eblsny opsomullsy 1fen erapais.
Rewrite the following in short score.

§
ik 3
é ;J, S T = i 7 r
#o—@ . e @ b
AT T £
@)
3 B 7 4 r
EK Ll ¥
L W 4 ] 3
2 4 I
O f :
St Tt r e
4 I i £ £
XK 7
il AT & = ]
7 e &
kil g
h
7S
3
,,5_:3;
yd

ey
[ 13 &5 80D desde. / udk. 13 gn ungss / See page 13
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6. () & B eucfo woem 00, @OBT b HH0DE0 afblinma Doi,
s Geiien SenphBHw BenF eoahEmet CuamesHEoil G SGIIRIGITS QuomyfGh 1TSS,
Convert the given oriental notation to western notation.
ol @3B R | B o0 el|ownd e ®©8
e haatt R

Nt

(i) & g5 odew wdgben mosim.
gyt Beiter LHSOUL LrenILBHTIE.
Complete the given paragraph.

Ludwig Van Beethoven was a .......ooviiniinnn, period compaser born in . .
He was called he oo e e e e . He wrote ... sonatas
and .o Symphonies of which the ... Symphony has a chorus in the last
movement. He became ... at the latter part of his life.

(i) con B 8 g 0bn uld 8 o, S8 dan o emd ool Cusis,
Seoms Semssamalsmsn Gl G, owubms atsemnd gekm ubs Aaniing spsie.
Name the following instruments and write a short note on any one of ther.
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7. (i) @8 »0R 8080 e / @emdlE Hodn ymewws ©is ve oy oL BEBEEO pom emd wnoes
Basixs,

BRsst UnisHs BomausBaus srevsaifil / geail g Beass aFCH gtemts ubr &l o wWkissils Seuab
DEaibhs Amefiy spsis.

Wrile a review of a western classical / orchestral concert you have attended taking into account the following
guidelines.

Include the following in your composition.

- Name of the orchestra - The programme
- Venug - What was the response of the audience
- Things happened before the concert - Your view on the concert

- How the concert began

(i) 8 creBe 080 onds mB mS, D ewig esion BB gded (cfed) Bedmd mosim.

Seonremadepfy) Cosmiisel  preéisnsl GLUNCE, oen vwslBHEILGE UGB FhEILILIGbme (GlpEHEsT)
efsuflibma.

Name four Sri Lankan drums and describe various cccasions where these drums are used.

(i) ovo ogws! Bn gmecs! god enitieem D ges D BuBodd Bonis.
Uleiiougpld LIk cOmEmeT apsiienps CEnfleitrlinn oeven 2 sieT BIGD WBREsiet g aepss.
Select three of the following songs and write the name of the musical.

Name of Song Name of the Musical
1 Edelweiss
2 A spoonful of sugar
3 Memory
4 Loverly




